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()

6
y(1) Y(S)Zm
(-2 ®)0 ©
2
y(1) Y(S)Zm
(A) 2-2sin(?) (B) 2 + 2sin(¢) (C)2—-2cos(t)
u(t) y(?) y'(1) »y"(1)

(linear time - invariant system )
(A) y (1) +1=2u(r)

(C) y(1) = u(?)

lim y(¢)

t—>0

(D) =

t>0

y(t)

(D) 2 +2cos(t)

(B)y"(2) =2y'(1) +3y(1) =u(z)
D)y (1) +2y(2)=(1+2) u(s)

() vi(1) Vo (1) Vi(s)
Vo (s)
Vo(s) V.(s)
R,+C
(A) N Rl C R2
R, —
B) "R, +Cs R
R,Cs vilt) R vo (1)
©) "R cs+1
R,Cs+1 =
(D) - R.Cs () =
Y(s)
() R(s) Y(s) R(s)
A) G(s)
1+G(s)H (s)-G(s) R(s)+ Y(s)
oG —{ G0
(B) 1-G(s)H (s)+G(s) +
G(s) H(s)
©) 1-G(s)H (s)-G(s)
G(s) ()
(D) 1+G(s)H (s)+G(s)
u(t) y(1)
y"(2)+3y'(t) =4y (t) =3u'(t) + u(s)
s+3 3s+1 c 3s+1 5 s+3
(A) (s=1)(s+4) (B) (s=1)(s+4) ©) (s+1)(s—4) (B) (s+1)(s—4)



10.

11.

12.

13.

14.

15.

Y(s) §* —3s

R(s) s®+8s2+17s+10
(A)0 (B)-2 (C)-3
k
Gls)= s(s+4)
S=-212 k
(A)1 (B)2 (C)4
Yls) _ 5
R(s) C s+5
y(1)
(A)1- e (B)1+ e C)1-e™
{)'c(t) =—x()+u(?)
y(2) =2x(1)
(A) -1 (B) 0 €)1
(A) (B)
(©) (D)
(\interpreter )

(A) BASIC language
(C) assembly language

(A) MS-DOS

(B) MS-DOS

(C) MS-DOS
(D) MS-DOS

(linked list )
(A)
(B)
(©)
(D)

(A)
(B)
(C) CPU
(D)

(B) C++ language
(D)-€E-language

(array)

(D) -4

(D) 8

D)1+ e™

(D) 2

(

)



16.

17.

18.

19.

()

(parallel port)
(A) LPT (B) USB (C) COM (D) RS-232
(A) (RAID) (B) ( cache memory )
(C) DVD (D)
(A) (B)
(©) (D)
8 2's (=29)10

(A) (11100100),  (B)(11100011),  (C)(10011101), (D) (11100101),

F(X,Y)=XY+XY

(A) F(X,Y)=X (B) F(X.Y)=X+Y (C) F(X,Y)=X+Y (D) F(X,Y)=X+Y

22.

23.

24,

25.

u(?) y{t)
y"(t) +5y"(¢) +4y(t) 7 Bu'(1) hu(r) #(0)=0 »y'(0)=3 u(r)=0
t20 vAt)
(A) e —e” (B) Lo e (C) ler* e (D) e +2¢™
9
G(S):s(s+k)
k ({maximum overshoot )
(A)1 (B)-2 (©)3 (D) 4
32
G(S):s(s+8)
tP
R ® 7 © = (D) 2
k
G = 5D 6+2)
k
(A)-12<k<-6 (B)-6<k<0 (C)0<k<6 (D)6<k<12
24 k
(A) k=-12 (B) k=-6 (C)k=6 (D) k=12




26.

27.

28.

29.

30.

31.

32.

JONE

R(s) 543 r(t) =2cos(3t) v(t)
(A) y () = cos(3t—45") (B) y(t) = /2 cos (3t +45")
(C) y(¢) = 2 cos(3t+45°) (D) (1) = 24/2 cos(3r—45)
2
() G(S)Zm r(t)
R(S)zl ess = lime(?)
S t—>0
(A) 0
(B) 2 r_+ © G(s) -
(C) 4 _%
D) oo
(D) ()
G5yl L%
(FHR2)(5"+2s5+2)
0<k<w o )
(A) 0 B)A (C)2 (D) 3
O e
S(sp2)(59+2s5+2)
O<k<
(A)s=-2 B)ysxtl C)si=0 (D)s=1
—T1-5 0 10 _[o
(1) _[ A _3}x(t) +[ 3}1(0 x(0) = M
U(s)=1 />0 X(1)
S
[ o1+e® ] [6(+e™) ]
W XO= g 14 ey | ® x| "
__ 1-e® ] __2(1—e_5t)_
(€) X(f)—_4(1_e_3t)_ (D) X(f)—_ 1-e |
A A[0] A[L].eeeene.... A[9] A 2 (byte)
A[0] (1028 )10 A[3]
(A) (1030 )10 (B) (1031)10 (C) (103610 (D) (1038 )10
(A) o ( data independence ) (B)
(C) (D) (query)

(

)



33.

34.

35.

36.

37.

38.

39.

40.

()

(CISC, Complex Instruction Set Computer )

(A) RISC
(C) RISC

A-B/C
(A)
(©)

()
(A) Case ZDo Y
(B) While Y Do Z
(C)IfY Then Z
(D) If ZThenY

(tree)
(queue)

(237.6)g

(A) (86.25)10 BY (426-75) 15

(A)
(B)
(C) CRC
(D)

(infix)
Aabc+t—-p+tlg><rstl-
Clab+rcpgrst—+1—>]

Osl
( Repeater)
( Router)

(A)
(©)

( methods )

( Data Abstraction )
( Inheritance )

(A)
(©)

(

( RISC, Reduced Instruction Set Computer )

)

CPU
(B) RISC
(D) RISC
(postfix)
(B) (‘stack)
(D) (linked list )
False
True
Z

(C) ( 150.25.)4¢

((a+b)+tc=(p=-q))/(r=sit)

B)ablc—p+qgt+trst>—|1
D)ab+cpg—><+rstl-1

(B) ( Bridge)

(D) ( Gateway )

(B) ( Polymorphism)
(D) (Overload)

(D) (159.75 ) 10

(attributes)
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